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L.a)  How do you process the rainfall data? Explain the procedure involved in it. [2]
b)  What are the factors affecting runoff over a catchment. [3]
-, ¢} State how S-curve-is constructed and. when it is adppted, o, [2}-. .
d) Enumerate various methods used for estlmatlng flood: dlscharge from a catchment [3}-1
“ €) State the’ 51gn1ﬁcance of well development ‘towards groutidtvater occurrerice: [2]
f)  Define the term: Well Efficiency, Porosity and specific yield. (3]
g)  List out the various ill-effects of irrigation. [2]
h)  Develop the relation between depth and frequency of irrigation. [3]
i)  Enumerate the drawbacks of Kennedy’s theory of design of canals. 2]

) EShQ“,f_“th_q compo;nents“Qf«l?alancinfg..c_i‘gep;h.of cutting. ......... [3]
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2'a)  Explain the procedure involved in the computation of average rainfall over a basin with

suitable example.
b) The 1nﬁltrat10n capa01ty of an area at dlfferent intervals of time ar_e indicated below.
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Time in 0 025 | 050 | 075 | 100 | 125 | 150 | 175 | 200
hours
Infiltration
capacityin | 21.8 | 7.50 | 540 | 372 | 212 | 130 | 155 | 155 | 165
cm/hr A
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e’ 3 a) Explam ln i detail the varlous constxtuents of runoff 1 pes |
; " b) Discuss in brief the “Pan Measureméiit method and """ Energy Budget method of ™

measurement of evaporation. [5+5]
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4. The following are the ordinates of a 3hr unit hydrograph. Derive the ordinates of a 6hr
unit hydrograph and plot the same. [10]
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The peak of a flood hy

drograph due to a 6hour storm is 675cumecs. The average depth

of tainfall is 9.75cm; Assume an infiltration loss af 0:75cm/hr and a constant base flow:
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oF 20cumecs. Estimate the peak discharge/of a 6hr tnit, hydrograph for the catchment. *.._
' [5+5]

ﬁ/.a) With a neat sketch, explain any two types of wells adopted in groundwater analysis.

b) Two identical tube wells fully penetrating a 25m thick aquifer are located at 160m
apart. The tube wells have diameter of 45cm, radius of influence of 390m and the
coefficient of peiitieability of aqiifer-i§™1 0°ny/sec~Cotitpute discharge of tube well
when only one is~working with-a’ drawdown of-9.5m .and percerttage .decrease-ir -

dischafge : [5+5] o

\ of the well, i both are working with a drawdowii of 6.5m.
OR
7.a)  Explain different types of aquifers with neat sketch.
b)  Derive the equation to determine the radial flow to wells in an unconfined aquifer. [5+5]

,(X/a) Discuss-.in detail-different watez--application n}ethpds~~-a}ong with. advantages and .

3 : 3 : ¥

disadvantages of each method.

* b) A volumie of 475 Mrnit-of storage was-able to 1mgatealand of 4.(.)“:0010~--Héé:ta1'es. The "
crop season is estimated to be 120 days. Estimate the duty of the crop. [5+5]

OR
9.a) What is meant by “duty of water”? Also enumerate the vertical distribution of soil-

........ b)
....... -10.2) De}lvethe Perimi"éfé}—b
b) How do you control the weed growth in canals? Explain. [5+5]

OR
11.a) Design an irrigation channel in alluvial soil according to Lacey’s theory with full
supply discharge as 15cumecs, f= 1.0, channel side slopgs as 1.5:1.
b) Derive an expression for balancing depth.




